

# EQUADIFF 10

---

Daniela Hriciřáková

About one property of the generalized Liénard differential equations

In: Jaromír Kuben and Jaromír Vosmanský (eds.): Equadiff 10, Czechoslovak International Conference on Differential Equations and Their Applications, Prague, August 27-31, 2001, [Part 2] Papers. Masaryk University, Brno, 2002. CD-ROM; a limited number of printed issues has been issued. pp. 217--219.

Persistent URL: <http://dml.cz/dmlcz/700355>

## Terms of use:

© Institute of Mathematics AS CR, 2002

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

# About One Property of the Generalized Liénard Differential Equations

Daniela Hricišáková

Department of Mathematics, University of Trenčín, Trenčín, Slovakia  
Email: [hricisakova@tnuni.sk](mailto:hricisakova@tnuni.sk)

**Abstract.** A special property for establishing boundedness and periodicity of the oscillatory properties of the solutions of equation  $x'' = F(x, x')$  is defined and investigated.

**MSC 2000.** 34C10

**Keywords.** Liénard differential equations, oscillatory properties

In this note I will consider a certain property, called property (B), introduced in the paper [1] for the equation

$$x'' = F(x, x'), \tag{1}$$

where  $F: R \rightarrow R^2$  is a continuous function which guarantees the existence and unicity of the solutions defined by the Cauchy conditions. This property, which we will later explicitly describe, gives good conditions for establishing the oscillatory properties of the solutions, mainly the boundedness and periodicity of the solutions.

We will substitute the equation (1) by the system

$$\begin{aligned} x' &= y, \\ y' &= F(x, y). \end{aligned} \tag{2}$$

We put  $g(x) = -F(x, 0)$  and we will assume that

$$xg(x) > 0 \quad \text{for } x \neq 0. \tag{3}$$

This guarantees that only the origin will be a singular point of the system (2) and that the trajectories of our system go clockwise. Moreover, we will assume that the

function  $F(x, y)/y$  is bounded for  $|x| < \alpha$ ,  $|y| > \beta$ ,  $\alpha > 0$ ,  $\beta > 0$ . This assumption guarantees the nonexistence of the vertical asymptotes.

If  $P = (x_0, y_0) \in R^2$ , then  $\gamma^+(P)$  will denote positive and  $\gamma^-(P)$  the negative parts of the trajectory of the system (2) going through the point  $P$ .

**Definition** We will say that the system (2) has the property (B) if there exists a point  $P = (x_0, y_0)$ , where  $y_0 \neq 0$  such that  $\gamma^+(P)$  crosses the x-axis but  $\gamma^-(P)$  does not.

In the paper [1] the authors prove the following theorem.

**Theorem 1.** The system (2) has the property (B) in the positive halfplane if and only if there exists a differentiable function  $\Phi(x)$  and  $\bar{x} > 0$  such that  $\Phi(x) > 0$  for  $x < \bar{x}$ ,  $\Phi(\bar{x}) = 0$  and

$$F(x, \Phi(x)) \leq \Phi'(x)\Phi(x) \quad \text{for each } x < \bar{x}. \quad (4)$$

We will consider the Liénard differential equation

$$x'' = -f(x)x' - g(x). \quad (5)$$

The system (2) will have the form

$$\begin{aligned} x' &= y, \\ y' &= -f(x)y - g(x). \end{aligned} \quad (6)$$

**Theorem 2.** Let  $f(x)$  and  $g(x)$  be continuous functions on the interval  $(-\infty, \infty)$  and let be

$$xf(x) > 0, \quad xg(x) > 0 \quad \text{for } x \neq 0. \quad (7)$$

Moreover, let be guaranteed the existence and uniqueness of the Cauchy problem of the system (6). Let be  $F(x) = \int_0^x f(s)ds$  and let be

$$F(-\infty) < +\infty, \quad F(+\infty) > e^{F(-\infty)},$$

$$\frac{g(x)}{f(x)} \leq e^{F(-\infty)}[e^{F(-\infty)} - 1] \quad \text{for } x \leq 0.$$

Then the system (6) has the property (B).

**Proof:** Respecting Theorem 1 it is sufficient to prove that there exists a differentiable function  $\Phi(x)$  and  $\bar{x} > 0$  such that

$$\Phi(x) > 0 \quad \text{for } x < \bar{x}, \quad \Phi(\bar{x}) = 0$$

and

$$F(x, \Phi(x)) = -f(x)\Phi(x) - g(x) \leq \Phi'(x)\Phi(x) \quad \text{for } x < \bar{x}. \tag{8}$$

Let be  $\bar{x} > 0$  such that

$$e^{-F(-\infty)}F(\bar{x}) > 0. \tag{9}$$

Put  $\Phi_1(x) = F(\bar{x}) - F(x)$  for  $0 \leq x \leq \bar{x}$ . Then  $\Phi'_1(x) = -f(x)$  and from (9) we get

$$-f(x)[F(\bar{x}) - F(x)] - g(x) - [F(\bar{x}) - F(x)](-f(x)) = -g(x) \leq 0 \quad \text{for } 0 \leq x \leq \bar{x}.$$

For  $x \leq 0$  put  $\Phi_2(x) = e^{-F(x)}F(\bar{x})$ . Then

$$\Phi'_2(x) = e^{-F(x)}F(\bar{x})(-f(x)).$$

It is easy to see that  $\Phi_1(0) = \Phi_2(0) = F(\bar{x}) > 0$  and  $\Phi'_1(0) = 0 = \Phi'_2(0)$ . Put  $\Phi(x) = \Phi_1(x)$  for  $0 \leq x \leq \bar{x}$  and  $\Phi(x) = \Phi_2(x)$  for  $x < 0$ . Setting  $\Phi(x) = \Phi_2(x)$  we get

$$\begin{aligned} -f(x)e^{-F(x)}F(\bar{x}) - g(x) - e^{-F(x)}F(\bar{x})e^{-F(x)}F(\bar{x})(-f(x)) &= \\ &= -f(x)e^{-F(x)}F(\bar{x})[1 - e^{-F(x)}F(\bar{x})] - g(x) \leq \\ &\leq -f(x)e^{-F(x)}F(\bar{x})[1 - e^{-F(x)}F(\bar{x})] - e^{F(-\infty)}[e^{F(-\infty)} - 1]f(x) = \\ &= f(x)\{-e^{-F(x)}F(\bar{x})[1 - e^{-F(x)}F(\bar{x})] - e^{F(-\infty)}[e^{F(-\infty)} - 1]\}. \end{aligned} \tag{10}$$

Using (9) we get

$$e^{-F(x)}F(\bar{x})[e^{-F(x)}F(\bar{x}) - 1] \geq F(x)[F(x) - 1] \geq e^{F(-\infty)}[e^{F(-\infty)} - 1].$$

Thus the expression in the composed brackets in (10) is nonnegative. From this it follows that  $\Phi(x) = \Phi_2(x) = e^{-F(x)}F(\bar{x})$  fulfills (8) for  $x \leq 0$ . This finishes the proof.

## References

1. Bucci F., Villari G. *Phase portrait of the system  $x' = y, y = F(x, y)$* , Bolletino U.M.I., 1990.

